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#!/usr/koeki/bin/ruby
# coding: utf-8

def createCardsHashArray()
card = Array.new # ZODESIZES
for suit in ["/\— k", "XR—=FK", "HALY", " HS5T"]
card << {"suit" => suit, "n" => "A"}
# CCTRALTLWRDD Ny
2.upto(10) do |nl
card << {"suit" => suit, "n" => n.to_s}
end
for n in ["J", "Q", "K"]
card << {"suit" => suit, "n" => n}
end
end
card # mRIC card Fg% ZFUEICSIRT

end
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if pp > cp # AYEa—2&badamirng
puts "HRI-OBBETT., BOFELR!"
else # £S5 THITNIF BIEFRITEL)

puts "DI=LOBEETY, RBERB[EH~"

end
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printf ("SOHBIDRIE %d | TIo \n", point(player))
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